

Purchasing: (916)568-3071 \* FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 \* FAX (916) 286-3636 Acctg-ops@losrios.edu

### PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000041967 CALIFORNIA CANOPY PLAY ANYWHERE SPORTS INC 40335 WINCHESTER RD ATE E231 TEMECULA CA 92591

**Phone:** (800) 944-5187

email: info@californiacanopy.com

### PURCHASE ORDER NO 1114800A

Date	Revision	Page
03/24/202	:1	1
Payment To	erms Freight Terms	Ship Via
NET 30	Shipping Point	Best Method
Reference:		Location / Dept
1029081 W	RIGHTM HANEYB HANE	YB04ADMN
Ship To:	FOLSOM LAKE COLLI RECEIVING	EGE

Bill To: LRCCD Invoice to: acctg-ops@losrios.edu 1919 Spanos Court Sacramento CA 95825-3981 United States

**10 COLLEGE PARKWAY** 

FOLSOM CA 95630-6798

Tax Exempt? N					
Line-Sch	Item/Description	Quantity UOM	PO Price	Extended Amt	Due Date
1-1	CUSTOM CANOPIES; THE HEADQUARTER 10' X10' BLACK ALUMINUM	10.00EA	597.00	5,970.00	03/24/2021
2- 1	STORAGE BAG W/WHEELS, STAKES AND ROPE KIT	10.00SET	55.00	550.00	03/24/2021
3-1	SETUP FEE	1.00EA	75.00	75.00	03/24/2021
4- 1	CUSTOM SIDEWALL 10' X 7' (SINGLE SIDED PRINT)	8.00EA	150.00	1,200.00	03/24/2021
5- 1	SAND BAGS (SET OF 4)	10.00 SET	55.00	550.00	03/24/2021
6- 1	SHIPPING	1.00EA	395.00	395.00	03/24/2021

QUOTE# 4930 v6 \_ REVISED VALID TO 03-31-2021

FLC ATHLETICS \_ MATT WRIGHT TO APPROVAL FINAL QUOTE AND PROVIDE CUSTOM ART WORK.

ATTENTION VENDORS:

PLEASE BE ADVISED THAT FOLSOM LAKE COLLEGE RECEIVING HOURS ARE CURRENTLY MONDAY - THURSDAY 10:00AM - 2:00PM UNTIL FURTHER NOTICE.

### Paid:

Check#: 94-815466

03-24-21 CANCEL PO 0001114800 VID: 47140, RE-OPEN PO 1114800A VID: 41967 (BH)

### Date: 05/27/21

Amount: \$9386.74

### Voucher#:

Items not received as of 4/29/21		
	Sub Total Amount	8,740.00
	Sales Tax Amount	646.75
	Total PO Amount	9,386.75

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment.

### Authorized Signature

Purchasing: (916)568-3071 \* FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 \* FAX (916) 286-3636 Acctg-ops@losrios.edu

#### PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000041967 CALIFORNIA CANOPY PLAY ANYWHERE SPORTS INC 40335 WINCHESTER RD ATE E231 TEMECULA CA 92591

(800) 944-5187

email: info@californiacanopy.com

Phone:

Tax Exempt? N

### PURCHASE ORDER NO 1114800A

Date	Revision	Page
03/24/2021		2
Payment Ter	ns Freight Terms	Ship Via
NET 30	Shipping Point	Best Method
Reference:		ocation / Dept
1029081 WRI	GHTM HANEYB HANEYBO	4ADMN
Ship To:	FOLSOM LAKE COLLEGE RECEIVING 10 COLLEGE PARKWAY FOLSOM CA 95630-6798 United States	-
Bill To:	LRCCD Invoice to: acctg-ops@losr 1919 Spanos Court Sacramento CA 95825-398 United States	
Quantity UOM	PO Price Extende	ed Amt Due Date

	ipt. 14												
Line-Sch Item/Description			Quantity	UOM	PO Price	Extended Amt	Due Date						
BU	Acct F	d	Org	Prog	Sub	<u>Proj</u>	Am	ount	BYea	ar			
GENFD	4300 1	12	FL.VI.KINE	08700	00000	700P	9,38	6.75	202				

Verification of this purchase order can be made using the Los Rios Community College District web site listed below. If you have any questions, please contact the Purchasing Office at (916)568-3071.

http://www.losrios.edu/purchasing/povalidation

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment.

Authorized Signature

Purchasing: (916)568-3071 \* FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 \* FAX (916) 286-3636 Acctg-ops@losrios.edu

#### PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000047140 CALIFORNIA CANOPY 40335 WINCHESTER RD STE E231 TEMECULA CA 92591

**Phone:** (800) 944-5187

email: info@CaliforniaCanopy.com

### PURCHASE ORDER NO 0001114800 CANCELED PO

Date	Revision	Page
03/22/202	1 - 03/24/2021	1
Payment Te	erms Freight Terms	Ship Via
NET 30	Shipping Point	Best Method
Reference:		
1029081 W	RIGHTM HANEYB	
Ship To:	FOLSOM LAKE COLLEGE RECEIVING 10 COLLEGE PARKWAY FOLSOM CA 95630-6798 United States	
Bill To:	LRCCD Invoice to: acctg-ops@losrios.e 1919 Spanos Court Sacramento CA 95825-3981	du

United States

Tax Exempt? N					
Line-Sch	Item/Description	Quantity UOM	PO Price	Extended Amt	Due Date
1- 1	CUSTOM CANOPIES; THE HEADQUARTER 10' X10' BLACK ALUMINUM	10.00EA	597.00	0.00	CANCEL
2-1	STORAGE BAG W/WHEELS, STAKES AND ROPE KIT	10.00 SET	55.00	0.00	CANCEL
3-1	SETUP FEE	1.00EA	75.00	0.00	CANCEL
4- 1	CUSTOM SIDEWALL 10' X 7' (SINGLE SIDED PRINT)	8.00 EA	150.00	0.00	CANCEL
5- 1	SAND BAGS (SET OF 4)	10.00 SET	55.00	0.00	CANCEL
6- 1	SHIPPING	1.00EA	395.00	0.00	CANCEL

QUOTE# 4930 v6 \_ REVISED VALID TO 03-31-2021 FLC ATHLETICS \_ MATT WRIGHT TO APPROVAL FINAL QUOTE AND PROVIDE CUSTOM ART WORK.

ATTENTION VENDORS:

PLEASE BE ADVISED THAT FOLSOM LAKE COLLEGE RECEIVING HOURS ARE CURRENTLY MONDAY - THURSDAY 10:00AM - 2:00PM UNTIL FURTHER NOTICE.

03-24-21 CANCEL PO 0001114800 VID: 47140, RE-OPEN PO 1114800A VID: 41967 (BH)

Sub Total Amount	0.00
Sales Tax Amount	0.00
Total PO Amount	0.00

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment.

#### Authorized Signature

Purchasing: (916)568-3071 \* FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 \* FAX (916) 286-3636 Acctg-ops@losrios.edu

#### PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000047140 CALIFORNIA CANOPY 40335 WINCHESTER RD STE E231 TEMECULA CA 92591

**Phone:** (800) 944-5187

email: info@CaliforniaCanopy.com

### PURCHASE ORDER NO 0001114800 CANCELED PO

Date	Revis	ion	Page
03/22/2021	1 - 03,	/24/2021	2
Payment Terr	ns Freight Te	erms	Ship Via
NET 30	Shipping Po	int	Best Method
Reference: 1029081 WRI	GHTM HANEYB		
Ship To:	FOLSOM LAKE RECEIVING 10 COLLEGE P FOLSOM CA 95 United States	ARKWAY	
Bill To:			
Quantity UOM	PO Price	Extended Amt	Due Date

Tax Exe	mpt? N									
Line-Sc	h	lten	n/Description			Quantity	UOM	PO Price	Extended Amt	Due Date
BU	Acct Fo	<u>d Or</u>	g Pro	<u>sub</u>	Proj	Amount	BYe	ar		
						0.00	202	1		

0001029081CHAVEZA17-MAR-2021

Verification of this purchase order can be made using the Los Rios Community College District web site listed below. If you have any questions, please contact the Purchasing Office at (916)568-3071.

http://www.losrios.edu/purchasing/povalidation

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment.

Authorized Signature

Purchasing: (916)568-3071 \* FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 \* FAX (916) 286-3636 Acctg-ops@losrios.edu

### PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000047140 CALIFORNIA CANOPY 40335 WINCHESTER RD STE E231 TEMECULA CA 92591

Phone: (800) 944-5187

email: info@CaliforniaCanopy.com

### PURCHASE ORDER NO 0001114800

	Date 03/22/202	Revision	Page
36	Payment Te		Ship Via
	NET 30	Shipping Point	Best Method
	Reference:		Location / Dept
S PO	1029081 WF	RIGHTM HANEYB	04ADMN
	Ship To: Bill To:	FOLSOM LAKE COLLI RECEIVING 10 COLLEGE PARKW/ FOLSOM CA 95630-67 United States LRCCD Invoice to: acctg-ops@ 1919 Spanos Court Sacramento CA 95825 United States	AY '98 losrios.edu

Item/Description	Quantity UOM	PO Price	Extended Amt	Due Date
CUSTOM CANOPIES; THE HEADQUARTER 10' X10' BLACK ALUMINUM	10.00EA	597.00	5,970.00	03/17/2021
STORAGE BAG W/WHEELS, STAKES AND ROPE KIT	10.00 SET	55.00	550.00	03/17/2021
SETUP FEE	1.00EA	75.00	75.00	03/17/2021
CUSTOM SIDEWALL 10' X 7' (SINGLE SIDED PRINT)	8.00 EA	150.00	1,200.00	03/17/2021
SAND BAGS (SET OF 4)	10.00SET	55.00	550.00	03/17/2021
SHIPPING	1.00EA	395.00	395.00	03/22/2021
	CUSTOM CANOPIES; THE HEADQUARTER 10' X10' BLACK ALUMINUM STORAGE BAG W/WHEELS, STAKES AND ROPE KIT SETUP FEE CUSTOM SIDEWALL 10' X 7' (SINGLE SIDED PRINT) SAND BAGS (SET OF 4)	CUSTOM CANOPIES; THE HEADQUARTER 10' X10' BLACK ALUMINUM10.00 EASTORAGE BAG W/WHEELS, STAKES AND ROPE KIT10.00 SETSETUP FEE1.00 EACUSTOM SIDEWALL 10' X 7' (SINGLE SIDED PRINT)8.00 EASAND BAGS (SET OF 4)10.00 SET	CUSTOM CANOPIES; THE HEADQUARTER 10' X10' BLACK ALUMINUM10.00 EA597.00STORAGE BAG W/WHEELS, STAKES AND ROPE KIT10.00 SET55.00SETUP FEE1.00 EA75.00CUSTOM SIDEWALL 10' X 7' (SINGLE SIDED PRINT)8.00 EA150.00SAND BAGS (SET OF 4)10.00 SET55.00	CUSTOM CANOPIES; THE HEADQUARTER       10.00 EA       597.00       5,970.00         10' X10' BLACK ALUMINUM       10.00 SET       55.00       550.00         STORAGE BAG W/WHEELS, STAKES AND       10.00 SET       55.00       550.00         SETUP FEE       1.00 EA       75.00       75.00         CUSTOM SIDEWALL 10' X 7' (SINGLE       8.00 EA       150.00       1,200.00         SIDED PRINT)       10.00 SET       55.00       550.00

QUOTE# 4930 v6 \_ REVISED VALID TO 03-31-2021

FLC ATHLETICS \_ MATT WRIGHT TO APPROVAL FINAL QUOTE AND PROVIDE CUSTOM ART WORK.

ATTENTION VENDORS:

PLEASE BE ADVISED THAT FOLSOM LAKE COLLEGE RECEIVING HOURS ARE CURRENTLY MONDAY - THURSDAY 10:00AM - 2:00PM UNTIL FURTHER NOTICE.

Sub Total Amount	8,740.00
Sales Tax Amount	646.75
Total PO Amount	9,386.75

<u>BU</u>	<u>Acct</u>	<u>Fd</u>	Org
GENFD	4300	12	FL.V

Prog <u>Sub</u> Proj VI.KINE 08700 00000 700P <u>Amount</u> 9,386.75 <u>BYear</u> 2021

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment.

Authorized Signature

### Requisition

Supplier: Ship To:	MISCELLANEOUS 00 ***** ***** CA 95825 United States email: RECEIVING 10 COLLEGE PARKWAY FOLSOM CA 95630-6798	000003680	Req IE 00010 Requi CALIF Reque Matth Reque Buyer Appro	29081 sition ORNIA C ster Lew Wrig ster Signa	Date 03/05/2 Name: ANOPIES ht ature nda Haney		Page 1
Line-Schd	Description		Quantity	UOM	Price	Extended Am	t Due Date
1-1	CUSTOM CANOPIES; THE HEADQUART 10' X10' BLACK ALUMINUM	ER	10	EA	597.00	5,970.00	03/12/2021
2-1	STORAGE BAG W/WHEELS, STAKES AN KIT	ND ROPE	10	SET	55.00	550.00	03/12/2021
3-1	SETUP FEE		1	EA	75.00	75.00	03/12/2021
4-1	CUSTOM SIDEWALL 10' X 7' (SINGLE SIDED PRINT)		8	EA	150.00	1,200.00	03/12/2021
5-1	SAND BAGS (SET OF 4)		10	SET	55.00	550.00	03/12/2021
6-1	SHIPPING		1	EA	395.00	395.00	03/12/2021

8,740.00 Sub-total

0.00 Est. tax

Total Requisition Amount:

8,740.00

### ATHLETIC OPERATIONS; ATTN: MATT WRIGHT CUSTOMIZED CANOPY TENTS

ONLINE NEW VENDOR APPLICATION COMPLETED; ATTACHED QUOTE EXPIRES 03/12/21 CALIFORNIA CANOPIES, 40335 WINCHESTER RD., SUITE E231, TEMECULA, CA 92591 800-944-5187; SALES REP: MATT SULLI; EMAIL: msulli@californiacanopy.com

BU	<u>Acct</u>	<u>Fd</u>	Org	Prog	<u>Sub</u>	<u>Proj</u>	<u>Amount</u>
GENFD	4300	12	FL.VI.KINE	08700	00000	700P	8,740.00

### Purchases Charged to Catagorical Programs, Grants or Special Project.

Program Name: LOTTERY Project Grant: 700P Program Director: MATT WRIGHT Program Goal: INSTRUCTIONAL SUPPLY

Approval Signature	Approval Signature	Approval Signature



### Quote

<b>California Canopy</b> 40335 Winchester Rd, Suite E231 Temecula, CA 92591		Quote #	4930 v5
United States		Date	03/05/2021
		Expires	03/12/2021
Phone: 8009445187		From	Matt Sulli
		FIVIII	Matt Sull
Bill To	Ship To		
FOLSOM LAKE COLLEGE	FOLSOM LAKE COLLEGE		
Matt Wright	Matt Wright		
10 College Pkwy	10 College Pkwy	A 6 6 5 5 7	
Folsom, CA 95630	Folsom, CA 95630	ACCEPT	QUOTE
United States	United States		
Phone: 916-608-6687	Phone: 916-608-6687		
Email: wrightm@flc.losrios.edu	Email: wrightm@flc.losrios.edu		
(12) 10x10 (BLACK) Hex Alumin	um Custom Canopies		

### **Up-Front Fees**

Item Description	Qty	Unit Price	Subtotal



## The HEADQUARTER Custom Canopies (Min. Qty 3) \$797.00 Each (10'x10') (BLACK) ALUMINUM

**Product Information** 

### **HEXAGON Aluminum Frame**

The California Canopy Hexagon (Black) Aluminum Frames are Professional Grade products and widely used by schools, clubs leagues and teams! The Hex Steel Frames are Powder Coated to provide an additional layer of protection. Their solid construction, heavy-duty framework, quality materials and key design features create a durable shelter. Not only are these shelters a great resource for shade, but offer an easy and effective way to promote your school, team or business, anytime and anywhere.

Features:

- Canopy is constructed of durable, weather-resistant 600 denier polyester
- Your artwork will be dye sublimated on a white canopy
- Crank-up canopy creates a taut, clean peak
- Frame is constructed of 1.2 mm anodized aluminum
- Frame features ABS glass-filled nylon joints
- Hexagon-shaped legs are 1.75" in diameter
- Legs feature plastic levers for pinch-free height adjustment
- Easily collapses to fit inside the included soft case with wheels
- The tent can be secured to the ground with the included stake kit
- Frame must be secured to the ground to prevent wind damage (failure to secure the tent voids the warranty)
- Imprint Method: Full-Color Dye Sublimation

### Fabric:

Professional Grade 600 Denier Polyester Fabric is highly durable and looks amazing! Superior advantage for printing any design!

### **Price includes:**

- 40 mm Black Hexagon Aluminum Frame
- All Canopies Same Design
- Logo printed on all 4 peaks
- Text printed on all 4 valances
- Heat Transfer/Digital Printing
- 2-4 Weeks Processing and Delivery
- 10'x10' Professional Grade Canopy Frame
- 600 Denier Water and Fire Resistant Fabric
- Full color logo print
- Weight: 52 LBS
- 3 Year Warranty

### **Upgrade Options:**

- Aluminum Frames
- Sidewalls and Half Sidewalls
- Rush Print and Delivery (Limited)
- Tablecloths
- Banner Flags
- Extended Warranty

10

\$5,970.00

Jote





#### Color: Black and Teal

Storage Bag w/Wheels, Stakes and Rope Kit	10	\$55.00	\$550.00
Setup Fee	1	\$75.00	\$75.00
10'x7' Custom Sidewall (Single Sided Print)	8	\$150.00	\$1,200.00

### STAND OUT FROM THE CROWD! Perfect Add-on to Your Custom Canopies

GET EXCITED TO SHOW OFF! California Canopy's 10'x10' Custom Canopies are considered top of the line in portable shelters. Enhanced your canopies even further with our Wholesale Custom sidewalls. Add you logo or unique design to stand out from the crowd! Your Custom sidewalls are perfect for fundraising events, games, conferences and more.

### FEATURES:

- 600D Polyester Water Resistant Fabric
- Velcro Connection System
- Heat Transfer Printing
- Single-Sided or Double Sided Print
- 2-4 weeks production and delivery time
- Additional upgrade options available
- Dimensions: 10" x 7'

Sand Bags (Set of 4)	10	\$55.00	\$550.00
Sand Bags (set of 4)			



### М

### Quote

Mock-Up Images and Commen	ts:		Subtotal	\$8,345.00
			Shipping	\$395.00
			Tax (7.75%)	\$646.74
FOLSOM LAKE COLLEGE	Folsom Lake college		Total Folsom/Lakecoll	\$9,386.74 USD
FRONT VIEW	DIAGONAL VIEW	FOLSOM/LAKE COLLIEGT BIRDS EYE VIEW	SIDE VIEW	

### **Cost Breakdown**

Туре	Up-Front Fees
Product	\$8,345.00
Shipping	\$395.00
Тах	\$646.74
Total	\$9,386.74 USD

### **Quote Attachments**

Madison\_Ciccarelli\_\_10x10\_Canopies\_-\_\_Folsom\_Lake\_College\_-\_Option-05.jpg (976 KB)

By approving I have verified that spelling and content are correct. I am satisfied with the art content layout. I understand that my art will print as it appears here, that I cannot make any changes once my order is placed and that I assume all responsibility for typographical errors and image errors. I also understand that the color settings of my monitor and that of the printing press may be different, so variations of the on-screen and printed piece will differ slightly. In the event that I do not provide PMS colors to represent the closest match to my desired color specifications, there is a greater chance the final printed product color and digital version will vary.

### PRICE INCLUDES:

All Canopies – Same Design 10'x10' Professional Grade Canopy Hexagon Steel Frame Colors: TBD Logo printed on all four peaks Text printed on all four valances Full color logo print Heat Transfer/Digital Printing

### ACCEPT QUOTE



600D Polyester Fabric Storage bag with wheels, stakes and rope Production and Delivery: 3-8 Weeks 2 Year Warranty

### WARRANTY INFO:

(PAS) Play Anywhere Sports® manufacturer of California Canopy Custom Canopies warrants to the original retail purchaser who provides a dated sales receipt-each part of the PAS Custom Canopy to have a warranty for a period of ONE year (depending on the model) after the date of original purchase. This warranty applies only for normal and expected uses, as determined by the manufacturer. California Canopy obligation and liability under this warranty is limited to the repair or replacement (at its option) of the product or its parts, after its own review and examination. UPON DELIVERY - Inspect and set up each item reporting any damage or unsatisfactory quality within 48 hours of receiving your order. RETURN ADVISORY — Before returning any part or product to California Canopy or its designated representative, please contact us to obtain specific return shipping instructions. All shipping costs must be prepaid at customer's expense and California Canopy is not responsible for products damaged in transit. CONDITIONS — This warranty shall be void as to any product which has been altered or modified in any manner. This warranty does not apply to damages caused by wind, rain, or other forces of nature, nor to accidental or deliberated damage of the product, nor to use of the product that does not conform to the product instructions. This express warranty is provided in lieu of all other warranties, expressed or implied. California Canopy in not responsible for minor blemishes to the canopies during transit.

Disclaimer: In no event shall California Canopy be liable for any direct, indirect, punitive, incidental, special consequential damages, to property or life, whatsoever arising out of or connected with the use or misuse of our products.

Warranty details: https://www.CaliforniaCanopy.com/support-center/

Thank you for your business. Please review the information provided and contact us directly with any questions 800-944-5187 Email: info@CaliforniaCanopy.com.

# \* CALIFORNIA CANOPY

PO#1114800A

# RCVR # 000 209 6856

# \* No Packing list